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Based on the CR R5-176251r1

The above CR is a change to the statistical testing for Rx characteristics with CA. This CR proposed to change the reference from Annex G.2A to annex G.2 for several test cases.
This would make the statistical testing of CA an early decision concept.

It is proposed that actually changing the Annex G.2A instead of changing each test case reference would be simpler and generate a greater test time saving in CA testing.

However just changing G.2A will give rise to some ambiguity in the test procedure. This is because, we need to measure the throughput for every CC for CA test cases, and apply the PASS-FAIL principle (G.2) for each CC independently. This will cause the variety of situations shown below and we need to specify the procedure to cater for these situations. 

[bookmark: _GoBack]There are 2 options for the procedure:

Option A) Once the Early PASS/FAIL for a CC is determined, then the decision will not be changed whatever happens after that. Measurement lasts until PASS/FAIL for all of the CCs are determined.

Option B) Measurement of all of the CCs should last until PASS-FAIL for all the CCs are determined simultaneously. 




Following depicts the behavior of the procedure for some situations.
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From above analysis, the Pros and Cons.

	
	Pros
	Cons

	A
	1. Test time can be shorter than B. 
	1. Test reliability would be lower than B (because test time is shorter). 
1. We cannot detect the case that a CC becomes FAIL after Early PASS (or vice versa.)(Case 2) 
1. For the case of Case 3, overall verdict can be PASS though the measurement condition is not suitable. (We cannot say it’s carrier aggregated status for other CCs)

	B
	1. Test reliability would be higher than A (because test time is longer).
1. We can detect the case that a CC becomes FAIL after Early PASS (or vice versa.) 
1. For case 3, the overall verdict will be the “FAIL”, which is correct result.
	1. Test time can be longer than A. (But still same as A for the typical cases) Maximum test time would be 2469 samples regardless of CA order.( or 1003 samples, which is current fixed length) 




Option B would be of higher reliability (Case 3 is only considered appropriately by Option B).
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